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Hints On Toefll Ix»lenmg Comprehenswn Test
id Lot .

becnpu Onc

Partiznte #Aot

' B i
. am MY

In this secticn of rhe tht, vou will havc an oppqmvmtv la, dcmonstmtﬁ vour ability to

understand spokcn n_ughsh I‘hcre are tlnee parts.to lhb sncuon, with spcc1al directions for

[

each Partl. Grias O N I

(5 0 BTSN IO B+ g L] . al

Part A S o .
Directions: For each problem in Part A, vou will hear a .ino-rt‘sfaatexnent. The staiements
will be spoken just one time. Thcy ynll not be erll“q out for you, and you must
listen carefully in order to und‘.rstand wlnt lhc Spulkél Says. whcn you hear a statement,
read the four sentences in your test book and deude wluch ong . 19 closx_st in, meaning fto
the statement you haye heard. Then, on your answer sh‘qeg, find t}m number, of the
Problem and nwrk your answer.

Example 1.

You will hear: John dropped the letter i“_,-m"-‘;.mailbo_&: .. Sample Answer
L T

vou will read; (A) }ohn sent thc Igftera i
(B) Tohu opencd the Ictter.,.,
(C) Iohu Jost the letter.
(D) John destroyed the letter, - 4 :
Sentence(A)," john sent the letters” means rost nearly, the saAtme\:as the statement “ John
dropped the letier in the mailbox.” Thercfore you should choose answer (A ).

Example 1.

You will hear: James relaxed with a ‘sigh %of - 1 Sumiple Amnswer
relief when:he heard he mews, ' i "X, S.B] @ 'D“j‘
You will read: (A) The news'was veéry disappoiﬂiﬁ’é." callt

(B) The news‘ade Tamés very ‘sad” |
] (C) The news was bettey’ tRER exptred’ o
f (D) The news madb““‘famies'e'f%fefnc’ly nervous.
SettericeCC ¥, ” The fews was better thin ‘eypectsidy i ¢losést i’ mchning to' the sentence
" Tames relaxed with a sigh of relief when he heard the mews.” Thérefore vou should

choose answer (C).

1. (A) Mr, Wilson won’t have time, +I1EE
(B) Mr. Wilson will take us there, -3 i
{C) We can make it there without w AR 0 SES |
M7r. Wilson’s help. oRITW & 2 :
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(D)
(A)

We are to pick up Mr, Wilson right away.

He is a man who enjoys taking risks.

(B) He writes adventurous books for a living.

©)
(D)
(A)
(B)
(©)
(D)
(A)
(B)
(©
(D)
(A)
(B)
(®)
(D)
(A)
(B)
)
(D)
(A)

He enjoyvs reading adventurous stories.

He dislike reading adventurous stories.

The manager doesn’t mind his employee’s personal behavior.
The manager doesn’t feel happy about her coming late to work.
The manager doesn’t care her coming late to work,

The manager doesn’t like her coming late to work.

He went swimming.

He plaved tennis.

He plaved tennis before he went swimming.

He neither played tennis nor went swimming.

He got up 1 hour latee

He got up 2 hours late.

He got up 1 hour early.

He got up 2 hours early.

He usually runs very fast to class.

He usually eats his breakfast before the first class.

He usually has breakfast right after the first class,

He usually goes directly to the first class without eating anything in the morning.

The correct time is 11:00

(B) The correct time is 11:30

(C)
(D)
(A)
(B)
(&)
(D)
(A)

The correct time is 12:00

The correct time is 12:30

He wanted to come at 9.

He had my permission to leave at 9.

He wanted me to hold his Pencil for a moment.
He wanted me to hold his place in the line.

Most students don’t like to live in the dorm,

(B) Some students dislike Co-dormitory.

(&)
(D)
(A)

Many students griped about the cold dorm.

Only a few students compPlained about the crowded situation in the dormitory

He brought chicken,

(B) He brought soup.

(©)
(D)

He brought fruit.
He brought juice,

(A)He reads 2 books a week,
(B)He reads 4 books a week,

"B



12,

13,

14,

15,

16,

17,

18,

19,

20,

21,

(C)He reads 8 books a week,

(D)He reads 10 books a week,

(A) Chinese tea has a darker color,

(B) Chinese tea has a lighter color,

(C)Indian tea has a lighter color,

(D)Indian tea has a greater variety

(A)She thought she could do better,

(B )She did better than before,

(C)She did as well as before,

(D) She thought she did very well,

(A)It leaves in the morning,

(B)It leaves in the afternoon,

(C)1t leaves at night,

(D)1t leaves at 4 o’clock in the morning
(A)His school record is fairly good.,

(B)His school record is poor,

(C)His school record is excellent,

(D)His school record is bad,

(A)It is an attractive house,

(B)Green color made the house more attractive,
(C)Green color spoiled the house appearance,
(D)1t is an ugly house in every way,

(A)She likes ice cream best,

(B )She likes cake best,

(C)She likes ice cream better that cake,
(D)She likes both ice cream and cake,
(A)Margret needs more eggs.

(B )Margret needs more bread,

(C)Margret nceds more butter,

(D)Margret needs more milk,

(A)We have 8 tickets at present,

(B)We have 10 tickets at present.

(C)We have 12 tickets at present,

(D)We have 14 tickets at present,

(A)She was worried about her husband long absence
(B)Her hushand’s drinking habit made her worry.
(C)She was worried about her husband’s ill-temper.
(D)Her husband’s sickness caused her worry,
(A)My back is against one of four chairs,

from home,



no

(B)AIl my chairs are in the back of the roome82tw & rdond © shasy s4(D)
(C)Three of my dining room chairs have backs§zsw s ¢ ‘
(D)My cheirs arc back to back ageinst cachvdrhivmpedral s =nd sor spad DLAG SE

(A)You scored n zood grade in the Lkitchengwnies wordat! & ced 58 sasnm 0 (D)

(B)Your shoes scrached the kitclien [loor, 000 waiduil « 2l a3t neibell{D)
(C)You wrote on ihe floor, rdotyay 1atsong £ end wat marbsi 00

(D) There are marks on your shoes, Jestiad ob biuos af nwy ~detAY &P
(A)She only comes on specini J;zys.i « 216 ool a3ttt - bifs sAZCHD

(B )She comes from time to time, onohsd b s : bih ad2 ()
(C)She [requently has coeasion to drives «i8 # ib orla vlanody angtd)
(D)She comes as {requently as possible, Lreirrom sl Farth) M
(A)They wani to change the house into a storee wemart, =dy oo sisas) 10D
(B)They want io renovate it and {ix it up. Jilgis 1

(C)They waat to give it back to its Previets owrer, ! I 1

(D) They wagt to sell it right awav. 00N wliis) ot ] ‘ ton wH (K} Ll
(A)Tennifer is definitel- injured 00 bu iocaf-e AL EE)
(B)Jennifer is certainly unharm _ Anplisgrs g g loodis A1)
(C) Ron believes that Tennifor and T are huste o5ed 2r Brosws loodon sl ()
() There is soms quesiion about jennifer’s injurwgedad o fiauiie oo of LAY L3E
(A) School is startisg carly thisspdaeyils S1aen couod sy shum ol ey I CH)

(B) School usually Begins in Ociebsfiei=auid swod i Lot fou (D)

(C) School has usually begun by Septembers? 1275 ni ssod i 2t 1)
(i2) School never begins in August. Jant higsis ) ead il wd 3
(A) It is warmer now than it was an hour ago. ol : adel o2l )

(B) The femperature is fiftecn degrees. 2869 6 10iad mavio ol

(C) The thermometer is broken because «itdwas @roppeds 200
(&) L6t

(A) Deanis now carns $12,000 a year. U 0 s gt AL H)

(B) Dennis carned $ 1,100 last month, : 180 ek Py gt

(C) Dennis always earned $ 1,000 a month. Aim yonx akoen Jsrnvsdd (€0

(D) It is colder now than it was an hour ago.

(1?) Dennis earned $ 1.000 last weelk. Jocionty e plaxal & ovad aURY (B
(A) Tom failed the test and was sade sitrazoaty 15 @adatt 00 send pW(H
(B) He was happy to hear the good resultses’mss a se ataasil S0 aund 200
(C) Tom’s test score made him nervous.  «10%2 14 ' 5 (G)

(D) Tom is aboutath muked asestiangdede ey dervous.ot SO 5 da(d) 08

(A) David gol on the train.eatbys tod shinr 1idad padiseh 2" byt )
(B) He cavried a hoard oundpsilseitnélin: With hith. « woda | : sde ()
(C) The train left an hour ahead.efetimepd b - (L antleusd w3 (1 IEL)
(D) David’s train depailed wilhout himeds 100t 1o i 1 - 4 CA) 18

'4.



31* (A) Emily said she couldn’t come at all. colees geawls 2t sl (D
(B) She said she wasn ’t supposed tongomles o s spioy’) peudl jallel a lped (&)
(C) Emily will be here when she,eaged 0 =rond 50l 0 {
(D) Emily couldn’t come, so.she apologizeds -. |
32. (A) She wanled a steakyssa she-bought:-iones °
(B) She ordered a hamburgere -+ - =s.
(C) She got what she wanted.
(D) She always {igds.what. she. wants,
33, (A) John made his sister dirty for vearss
(B) John was always a loving brother.
(C) lohn was unforgiving for a long time.
(D) John held his sister captives
34, (A) The bovs and citls went to the movies and the theater, .
(B) The hoys and girls went out together,
(C) The boys and girls went to the same places, \ -
(2) The bovs went to one place, while the girls went to another.
35. (A) The molive was diccovered through haid work.
(B) The motive was unknown cven though much effort. was speat to, find its
(C) The crime seemed lo have no motive.
(D) The delective worked hard but got nowhere.
36. (A) New York alwavs has perfect weathere
(B) The people in New: York .influence the temperature, |
(C) Onc can always lind something to complain about in New York.
(D) New Yorkers are only happy in the spring.
37, (A) We usually dake.the bus te, works
(B) we rarely drive to works
(C) Under normal circumstances we drive to worke.
(D) We must drive in order,to. get.to work.
38. (A) He ds. in.a crogery 'sloics -
(B) He is in church,
(C) He is at a doclo1’s offices : ;
(D) He is in a shoe repair shope 3
39, (A) She was pleasantly surprised,
(B) She was unhappy.
(C) She aigued with the salesmagq.
(D) She paid too much for the muffler.
40. (A) He leaves for work just hefore he is due,
(B) 1le leaves for work au hour before he is due.

(C) He is always late-



(D) He is always early.
41. (A) Paul is taller than George and Ringo.
(B) Paul is shorter than George and Ringo.
(C) Paul is the same height as George and Ringo.
(D) Paul is shorter than George but taller than Ringo.
42. (A) He didn’t leave until the show was over,
(B) He’ll never watch another show,
(C) He wanted to stay but had to leave before the shew was over.
(D) The show ended long before he left.
43. (A) 1 felt nothing.
(B) 1 was unaffected.
(C) The effect was powerful.
(D) 1 think about diugs.
44. (A) It was an all-day party,
(B) It was an all-night party.
(C) It was a shorl-term party.
(D) 1t lasted more than a day,
45. (A) Forty people came.
(B) LEighty peoplc came,
(C) Ten people came.
(D) Twenty people came.
46. (A) No one doubted that the display would begin on time.
(B) The scheduled display was canceled.
(C) The weather bothered the display.
(D) There was some doubt as to whether the display would begin on schedule.
47. (A)There are five pecople in the Deegan family.
(B) The Deegans own five houses.
(C) Ms.Deegan bought five dresses over the past two years.
(D) The Deegans have moved five or more times in the past two yvears.
48. (A) My ideas are always fresh and new.
(B) At present I have no new ideas.
(C) The newest ideas are not always fresh.
(D) There is no such thing as a fresh idea.
49. (A) tomorrow
(B) ves, I do
(C) regularlys about once a month
(D) at four o’clock
50. (A) 1’m never surprised by tesls.

(B) Surprises come to me, but not when she studies.

.6-



(C) I knew she would fail when I saw that'she wasn’t studying for her test.
(D) She never surprises anyone when she takes a test. :
51. (A) 1,2,3,4,5,6,7,8,9,10,11
(B) 2,3,4,5,6,7,8,9,10
(C) 1,3,5,7,9,11
(D) 1,11
52. (A) Denver is considerably smaller than Los Angeles.
(B) The two cities are not close to each other.
(C) Denver is not the nearest large city to Los Angeles,
(D) Los Angeles is considerably smaller than Denver.
53. (A) We drove for twenty hours.
(B) ‘We drove for thirty—five hours.
(C) We drove for five hours.
(D) We 'drove for fifteen hours,
54. (A) All of her sisters were at her graduation,
(B) She had three sisters.
(C) Thete were six sisters all together in the family,
(D) Only two of her sisters were at her graduation.
55, (A) She discovered that she could apply for a school loan.
(B) She found the loan program after looking for it.
(C) Only new students are allowed to apply.
(D) She was on loan to the new school.
56, (A) She thought he was overweight when she first saw him.
(B) She liked him right from the start.
(C) She disliked him the first time she saw him.
(D) He loved her at first sight,
57. (A) Heidi has always been a calm cat,
(B) She always has her kittens quietly.
(C) Before she became a mother, she was noisy.
(D) Cats are always quict around their kittens.
58. (A) Each person paid $18,
(B) Each person paid $9.
(C) The whole bill was $54,
(D) Each person paid $6,
59, (A) It’s like looking for a needle in a haystack.
(B) Every cloud has a silver lining.
(C) One is as good (or as bad) as the other, so there’s very little to help us decide
which we should choose.
(D) The total is 12,



60.

61,

62.

63.

64,

65,

66.

67.

68.

69,

78
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as taxi drivers S
Mr. Schwartz is waiting for a loan to be returned from a friends
Mr. Schwartz is applying for a loan.

Mr. Schwartz has been told to beware of the loan..

We are waiting for Mr. Schwartz to lend us some moneys
Tom is full of surprises. ;

No one was surprised when Tom got the job,

1 knew he wasn’t going to get hired,

1 thought he’d be hired,

Larry has a new girlfriend.

Maryanne is }im’s new girlfriend,

Larry wondered what Maryanne thought of Jim’s girlfriend. .
Larry asked his girlfriend about Muaryanne and Jim,

The numbers are all in.the pProblem.,

The shape of the geomeiry book. is strange,

The geometry problem can be solved with ease,

The problem is too difficult to solves

He thinks the car is worthlesss .« |

He is too generous with his moneye

He gives away cars, but not this one.

He wants to receive the car as a gifg. d:

The question is being asked too lates

The job does not exist at Present.

The job is being offered. _ o P

The genesal manager is speaking from California.

ord loved to work on model toys.

Ford’s model was a former presidents

Ford was a model while he was in offices

Ford posed for pictures for pay at one time.

Subway—to—bus transfers are riext to impossible to obtain.

(B) The proper stamp or punch on tha ticket is all that is necessarys

C)
(D)
(A)
(B)
(C)

The only way to transfer is from bus to subway.
when tickets are given they are always valuable,
Women outnumber men in Washington,

Women otinumber men in San Francisco.

There are more people in San Francisco than in Washington.

o§u



(D) There are only eléven tien in'San Francisco.

70¢*CAY “Liquid can never boil in a pots only ina pan. = < = o

~3
A

L
Ve

74.

76,

e

79.

(B) Smoking “pot” can he dangerous.

() pots are always in the kitchen.

3

(A) She made usstay and "listen,”

(B) She was so fascinating that we couldn’t leave,
(C) 1t was ninely minuies before we could listen to her.
(3) We didn’t want to listen, but we had nothing slse to do.
(A) His term was very shorte

(B) He was a small man,

(C) He was pope for several ‘hundred vears,

(D) He was the smallest pope in several centuries,

(A) He wants to leave a quarter for a tip.

(B) He is only one—fourth of a group.

(C) The time is fifteen minutes belore the hour.

(1)) They should leave soon in order to be on time,

(A) fine

(B) on Tuesday

(C) eighteen years old

(D) by bus

{A) Kansas was punched eightecen times.

{B} Eighteen people died.

(C) Eighteen people claimed responsibility for the tornade.
(D) There were eighteen women—all fronr Kansas. '
(A) 9 isdimsasl »f A :

(B) 14¢

(C) $0.90

(D) $0.014

(A) He’s in a bakery, i
(B) He’s at a florist’s.

(C) He’s at an Italian restaurant. i
(D) He’s alone in his kitchen.

(A) He’ll probably go faster since there are no police.around.
(B) He is afraid of some spots in this zone.

(C) He’s afraid he’ll get a speeding tickets

(D) He is a fifty-five-yecar-old .policeman.

(A) The movie has been shown locally.

(BY The movie has not heen shown at my local theiter recently.

A

(D) The more anxiously one awaits an event, the Tonger it 'séems to take ‘to happen.,

;



(C) Movies that age six months old are worth waiting for,
(D) My local movie theater has not been showing any movies at all for the past
year.
80, (A) We have a duty to Vickie
(B) Vicki is a night person.
(C) She is less than we thought, but she’s welcome anyway.
(D) She is due to arrive this eveninge
81, (A) Mrs. Jones went out to buy coffee.
(B) Mrs. Jones needs some coffee.
(C) Mrs. Jones has lots of coffee.
(D) Mrs. Jones has a little coffee.
82. (A) We must ask the question.
(B) We must remember the question.
(C) The question is not importante
(D) We must try to forget the question.
83, (A) She wanted to hide her accident.
(B) She wanted to explain her accident to her friends
(C) She wanted to report her accident.
(D) She wanted to talk about her accident quietly.
84, (A) I’'m going to wear them.
(B) I’m going to keep them.
(C) I’m going to wash them.
(D) 1’m going to discard them,
85. (A) Bill went to New York in Decembet.
(B) Bill runs a business in New York.
(C) Bill will open a business in New York in December.
(D) Bill shouldn’t g0 to New York.
86, (A) She gave the teste
(B) She postponed the test.
(C) She cancelled the tesi.
(D) She gave the test orally.
87. (A) Mark became curious.
(B) Mark became worried.
(C) Mark became angry,
(D) Mark became nervous.
88. (A) All of the passengers were killed.
(B) Mary Peters was the only passenger killed.
(C) None of the passengers were killed.,
(D) Mary Peters was the only passenger not killed.
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89,

90.

91.

92.

93.

94,

95,

96,

Bie

98,

(A) They offered him a job.

(B) They rejected his offer.

(C) They accepted his offer.

(D) They discussed his offer,

(A) He is a mechanic.

(B) He is a plumber.

(C) He is an electrician.

(D) He is a builder.

(A) Mary asked the teacher a question.

(B) Mary’s idea was reasonable.

(C) Mary’s question was off the subject.

(D) Mary’s idea was impossible.

(A) John has as many books as pencils.

(B) John has more pencils than books.

(C) John has fewer pencils than books.

(D) John has fewer books than pencils.

(A) You should arrive at 8:00.

(B) You should arrive at 8:20.,

(C) You should arrive at 7:20.

(D) You should arrive at 7:40.

(A) Each hamburger cost me $20,

(B) Each hamburger cost me $40,

(C) Each hamburger cost me $10,

(D) Each hamburger cost me $30,

CA) I did 25 5, and %

(B) I did 2, 4, and 6,

(C) Idid 1, 3, and 5,

(D) I did 3, 6, and 11,

(A) The boys took a wrong turn during the trip,
(B) Bill did most of the driving during the trip,
(C) John drove Bill to New York,

(D) The boys divided the driving time,

(A) The test was not the least bit difficulr,
(B) The test was the least difficult of all,

(C) The test was very difficult,

(D) The test was as difficult as previous ones,
(A) The van and the truck are the same price,
(B) The van is more expensive than the truck,
(C) The truck is as practical as the van,
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(D) The truck is more expensive than the vaa,
99, (A) Our childen hardly use the furniture,

(B) Our children dislike the furniture,

(C) Our children treat the furniture roughly,

(D) Our children want us to replace the furpiture,
160, (A) Bill surpasses Johny in math,

(B) John surpasses Bill in math,

(C) Bill always does John’s math for him,

(D) John and Bill make the same grades in- math, ARECL L
101, (A) | pay my rent hefore the middle of each month, : :

(B) All of my bills are paid on the fifteenth of each month,

(C) 1 have fifteen bills a month including my rent,

(D) 1 never remember 10 pay my rent on time,
102, (A) Both bedspreads cost the same amount,

(B) The green bedspread is the same size as the blue one,

(C) The blue bedspread isn’t as pretty as the other one.

(D) One of the bedspreads has blue checks.
103, (A) Mary will graduate in June and then she’s going away,

(B) Mary iniends to do graduate work in chemistry after June,

(C) Mary won’t graduate in June because of chemistry,

(D) Mary must take another chemistry course before she can graduite in June,
104, (A) The machine does not spin if you close the top, 1. 1 (1)

(B) The top of the machine spins during operation,

(C) Do not open the machine when it is .spinning,

(D) The operation of the machine requires you to spin,
105, (A) Johu never has a chance to eal sweets,

(B) Johna likes sweets but he rarely eats anvy,

(C) fohn enjoys eating sweet things,

(D) John is ashamed to eat sweet 'things,
106, (A) Most ol the guests introduced themsélves to' us, ‘ 1 (R

(B) We knew few people at the party,

(C) None of the guests had a good timeé,

(D) Everyone had more fun than we did, (R
107, (A) Tigers occasionally consume humdan beings when they are hungvy, ' 7

(B) Pcople rarely scare tigers, : v » {

(C) Tigers are scarce today, just like food, 4

(D) Tood is available for human beings but not 'for tigers,
108, (A) 1 like Bill Jones, but he doesn’t like me,

(B) Bill Jones and 1 don’t know each other very well, inutd il U
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